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QUESTION 1

Which session persistence type is invalid?
A. Async_replicated

B. async_jdbc

C. replicated

D. async_memory

E. cookie

F. file

G. replicated_if clustered

Correct Answer: D

QUESTION 2

Consider a domain with an existing JDBC data source, which connects to an Oracle database. Your database
administrator requests that the JDBC connections to this database now specify a different username.

Which data source attribute would you modify to implement this requirement?
A. Properties

B. Credentials

C. Username

D. Login

E. URL

Correct Answer: A

QUESTION 3

Which two metrics are used to monitor and troubleshoot unicast communication in a cluster?
A. Groups

B. Master

C. Backup server

D. Session Replicas
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E. Local Group Leader

Correct Answer: AE

QUESTION 4

When creating a dynamic cluster, you have multiple options concerning how dynamic servers are distributed across
machines in your domain. Identify three supported configurations.

A. Use a single machine.

B. Use all machines in a subnet.

C. Use all machines in the domain.

D. Use all percentage of machines in the domain.

E. Use all machines whose names match an expression.

Correct Answer: ACE

QUESTION 5

You require high availability for HTTP sessions in a web application. In addition, you have the following constraints:

There is little free memory on the machines hosting the cluster.

HA must be guaranteed even when multiple machines fall simultaneously.

You are not allowed to update the production databases schema.
A.

Database persistence

B.

File persistence

C.

In-memory replication

D.

Whole —server migration
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Which is the best session persistence option?

Correct Answer: C
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